A2 Market failure overview 
What is market failure? Market failure happens when the price mechanism fails to allocate scarce resources efficiently or when the operation of market forces lead to a net social welfare loss
Market failure exists when the competitive outcome of markets is not satisfactory from the point of view of society. What is satisfactory nearly always involves value judgments.
Complete and partial market failure
· Complete market failure occurs when the market simply does not supply products at all - we see "missing markets"

· Partial market failure occurs when the market does actually function but it produces either the wrong quantity of a product or at the wrong price.

Markets can fail for lots of reasons:

1. Negative externalities (e.g. the effects of environmental pollution) causing the social cost of production to exceed the private cost

2. Positive externalities (e.g. the provision of education and health care) causing the social benefit of consumption to exceed the private benefit

3. Imperfect information or information failure means that merit goods are under-produced while demerit goods are over-produced or over-consumed

4. The private sector in a free-markets cannot profitably supply to consumers pure public goods and quasi-public goods that are needed to meet people's needs and wants

5. Market dominance by monopolies can lead to under-production and higher prices than would exist under conditions of competition, causing consumer welfare to be damaged

6. Factor immobility causes unemployment and a loss of productive efficiency

7. Equity (fairness) issues. Markets can generate an 'unacceptable' distribution of income and consequent social exclusion which the government may choose to change

Task
Identify the possible market failures alluded to in the scenarios below (use the failure that you think is most relevant). 

1) The government announces new research that show that there is a much closer correlation between strokes and salt intake.

Type of Market failure _________________________________________________________

Why is this a market failure? (Hint: Decide how much of the good or service is produced/consumed? too much or too little?  Is the good or service priced correctly?
………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

2) Gatwick decides to allow airline companies to run flights throughout the evening this serves to interfere with a good night’s sleep for hundreds of thousands of nearby residents.

Type of Market failure _________________________________________________________

Why is this a market failure? (Hint: Decide how much of the good or service is produced/consumed? too much or too little?  Is the good or service priced correctly?

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

3) A company that makes honey has its hives in a meadow next to an orchard. The orchard finds that its yields have increased considerably since the start of honey making firm set up in business.

Type of Market failure _________________________________________________________

Why is this a market failure? (Hint: Decide how much of the good or service is produced/consumed? too much or too little?  Is the good or service priced correctly?

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

4) The government promises to improve flood defences around York following its recent flooding. 

Type of Market failure _________________________________________________________

Why is this a market failure? (Hint: Decide how much of the good or service is produced/consumed? too much or too little?  Is the good or service priced correctly?

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

5) Tom Finney start going to the Gym, as a result he starts to feel much healthier and visits his doctors less often.

Type of Market failure _________________________________________________________

Why is this a market failure? (Hint: Decide how much of the good or service is produced/consumed? too much or too little?  Is the good or service priced correctly?

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

6) An adult smokes inside her house, in front of her 4 year old child.

Type of Market failure _________________________________________________________

Why is this a market failure? (Hint: Decide how much of the good or service is produced/consumed? too much or too little?  Is the good or service priced correctly?

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………….

7) Research has just been announced  that show that taking an aspirin a day not only reduces the risk of heart attack but also improves the immune system

Type of Market failure _________________________________________________________

Why is this a market failure? (Hint: Decide how much of the good or service is produced/consumed? too much or too little?  Is the good or service priced correctly?

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

8) Following the introduction of wind farms in the UK cases of lung disease fall 90%

Type of Market failure _________________________________________________________

Why is this a market failure? (Hint: Decide how much of the good or service is produced/consumed? too much or too little?  Is the good or service priced correctly?

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………….

9) The Government allows the merger of Tesco and Sainsbury

Type of Market failure _________________________________________________________

Why is this a market failure? (Hint: How much of the good or service is produced/consumed? Is the good or service priced correctly
………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………

10.  The richest 1% now owns half the world's wealth. The wealthiest 1 percent of the world's population now owns more than half of the world's wealth, according a Credit Suisse report.
Type of Market failure _________________________________________________________________________

Why might this be considered a market failure? 

………………………………………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………………………………………….

.

1

